éesboﬂ

£

Moce gxqm??gs OS :nduc‘f,‘on

2023-04-10 16:41:45

17

Lesson6 (#7)




?(‘oog )Dé induction :
l) %O.b-& cadx ¢ W‘oen n=sg i & .24' ) CPeQr 83 ‘l‘r\*e.
Z.) ’Y\éw:,hvz S‘\'fo QLIDL Mg K 21 ) k in 2 Qnel

weak, 4hen 2= 202K 5 2k 2 ke
Summadtion f)-ocn-nupas

n
Z_ L ‘means 4 +2¢3t-- = N
(=1

r——

This is @ numbe,
noY a statemendt

Q

ZL = h[n+|)

L= A
\/V\/

Tk\’s s @ ‘Q,ACQQ_“'Q P(ﬂ)

(in tha video 1 ofso PR ‘+ Qn oR n 6‘¥Q:‘Q""£n'))

n
Yn 2 S L = 0 (n+n)
L=1 2

\—-—'"'j"—\/ —
This (s a $)gyarment
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—

Th : Vaz1 S_L = N(n+)

L= 2_

?roog H b(j l'f\éU\C‘\'-'OJ) on N

4
) Base cade ig h= 1 Z_t=4 (%)

(=41
1 (4+1) = 4 (%) . Clacet
2 3
(%) = (¢ x)
z) lnd ucti ve 5‘\'q?: eddvme K21, ki
a3
a nd 2. L = W(ku) ) +he
=41 2_
K« K
ZLz Z_L"’ (k+1)= k(k+')1.(1<.l.,>:
=1 L= 2

= K(kr)+ 2(ke) _ (K+1)(keter)
a B 2
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WQ can 3e.ne ro.?ii_q {(\ducﬂ‘\'o\n +°

PTO\!Q 5'\'°~Jf€f‘men"\'5 Qg +lﬂQ «S-o(/hq
Vaosn, POn)

(QSQM we mplicit® aessome Nin 2 )
ln  +his case the Fwo S+e€$
oS Q Qra og bé ind uction QA re -

\) Base cose Prow PC No)

z) Indockive al-ef: proLe
¥ K2No P(RY=2 P(k+1)
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2
Th: Y azg N~z 2"

PI"OOS : b:) N Auc:\‘i on

D Base case :

l‘S n= ¢ cfear?
/
6= ¢ ¢ 2% =g J

) Inductive step : essome K 7 ¢

/
Kin 2 and kLS.Z'K/ the,
o,ZK*I - 02.‘2\& > Rkl
Now I want to Prowe tha €
,Zkz' 2 (K-\-\)z: k2+2_k—rl Thi‘s 'S
(ﬁwivﬁkgﬂ.n‘l' to K2>,- 2K ) y whicl,

is tTrwe because SinCte K 2 S
2

wea  hawe K™ 2 K =2K 2Kk 22kt
C(This ac &umzn*‘ is ci\’j-f,-eren+ Jrorm
the oae Qlven in the vides)

Tha reé’-owz. QKR 52 kz 2> (k-l-l)&
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Th : The SsSoem og The intern Q..P
O—ﬂ&?&: og a ro.su?szr ?093300 wt +h
n sides s 189(n-2).

Call +his stateament $0(Nn) . We
wWa. at To prow Vn 23 @(n)

PTOog: bé induction
D Hose casve S§or n=3  our

PQQS 30{\ S < ‘\‘rt‘QnS PQ . f\\

[

T))Q Suw OS 'Hvo. Qns?e._) o) Q.
Jrn’o.nS?o. r's 1I89-(3-2) . We
wil essvme this (vutheout giving

Q ?fQ"g)) ﬁrom SCOMQ‘}PI

.2.) | nd wetive S‘\‘Q-Q : ASSume K.23,
K in 7 and P(Kk) rs 4rue.
Consider a 90?5 Qon wth kv sideg

2023-04-10 16:41:45 6/7 Lesson6 (6/7)




Az
As et Prow an ede<

Soinin vertices

%’/ e Ay Qﬂgé A3z -

The (red) Poplo\\on sath  verdices

Ay Ay Ag e Ay hes Kk vertics
So The Sum 05 its QﬂSFQS r.s
3 ( k=-2) . “The Sum of +he

inYer naf Q-nS?e_S O(S) +he DriSinQ,?
?0% %on 'S 18 o( k-2)~ 10 =
16Q ( K+ | -2)
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